= ()< b) [a]
=) [a N b
ONCENE® : o

=@ @By D] -

= G) (6oy) [g] S ¥ £ 2z 10 - e b
0
b
= @)L )) [v] = () )) [g] ) (X)6
£
x_ (0f X = (XY 0T —xZ=()0 | ¢+x8=(x)] X
- =(€)(J o b) [Vv] 1 0]

"uoIoUNy JSJI} 8Y) SJEN|BAS 0} J|NSal JeY) asnh uay)
‘1S11} UONDUNY pUZ 8y} 8len|eAd

"uoIouNy 1s41} 8Y) 8)BN|BAS 0] }jNSal ey} 8sh uay)
‘ISJI} UondUNy puz 8y} ajen|eAg

sydelo) woly suonoun4 6u!sodwoom

N

Aljeaielgab)y suonound buisodwo) KL= e

/Y 15
;{////d/,?/)/}

Evaluate the 2nd function first,
then use that result to evaluate the first function.
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